M@k@%%l%i REOEFIERS

R 5

Fo2lle HARAEEF RN NELFFEFERSTFES

O—FK:14504200

I%ﬁﬁEl.zo14¢5ﬁ10El(:t)~11El(El) SR EILEREMMKILEB AREEELFREE  3—F:172030 FoyvIEHE BE 1T
24— ILREHE Rl EE
187 .y B4 | B _ 1 _2ff _3fL _4fL __5f1 __ 661 IR __8f
K&/ FiE S0k K& FilE FOE% K% FilE s08% K% FilE SOER K&/ FilE 8% K& FilE EOE% K% FilE SCER K& FilE ECER
100m 5/10 [+0.5 [#tHE #0&  10.51 HH B 10.59 HiR i&mAK 1078 ZEH ZE#H 1082 BEE EF 1101 Bl K| 1112 INK B 11.17 2@ FFE 1135
BH-1T) BH-1TI4) BB ILAF (OP) BH-1T9) 8- LR T Fn-S2REE EH 1799 558 FBT MR A
100mB 5/10 [-05 [/t {2#E 1140 NSRS 1150 B2 ZFth 1151 MEE BHA 1151 HE+E thiE 1151 KB E£#H 1154 BE K& 11.77
Him-taL EE# BE-OFELERE #8797 LAK VALY (OP) B-JdLpEEH HE-'HIEH iE-ghamER At 3R 797 LAK —YhlyY (OP)
200m 5/11 [-1.1 |8 H 21.14 HiR A 2190 #A KB 2219 R ZF 2222 MO A 2223 BAR =% 2278 1 ETER 23.37 =H TUT 2391
BH-1T799 Bl EILKZF(OP) 8- AR AL - AL #ER1T Bl EILKZF(OP) B EILXEOP) BT Ay T - AFLERE
400m 5/10 faf §EE 4891 o N 50.19 Hft K&t 5032 =k A 5047 wWH 1K 50.55 BA =F=x 5092 el @A 5178 Z#H KFE 5188
Z - =1L KZ(0P) Bl MATHEESS 38 ALSOKHTBIR A E i 18 =L -F X (P) RPNl - EW-FILXZF(P) #8797 LAK ~YhLyY (OP) =W EIJ.U(—?—(OP)
800m 5/11 M S 1.56.07 #/R g 1.57.52 fn@E sABH  1.58.60 = A 1.59.21 4# JEK  2.00.86 SHE BEfE 2.03.68 AR EBEF 20901 =K @5 21672
BI-CEOBHE Bl MAREEAS i Him BT EITRANIp (D) E - B ILKZ0P) =l-ELAZ0P) =l EILKZ0P) B8 - R E DA
1500m 5/10 Fl& th#t  4.00.38 IS 402.16 MmE Z=$E  4.0343 R £EH 40402 11 #FE  4.05.09 ElE &t 4.05.95 AH EFF 40680 AE BE 41180
- v/ HE ELl-YKK &Il B 1L ASOP) =11 YKK - v/ HE BI-CEDEHS EL-YKK 55 Ha sk
5000m 5/11 B i 141924 [#&] ESN 142010 [(BEH KE 142369 [HK =& 142465 (§iH = 14.28.45 Bézls Fah 143171 |AH BE 143180 |kH Bth 143444
8- b4 /B =l YKK 8- B AL =1l - YKK =l -YKK =1 YKK i ERSER T A =1l - YKK
10000m [5/10 TLy9R-L7u% 284359 [vw+-7eav-am 291962 [IUE ERh 294028 [AH EE 294182 |[giH #E 295007 |FH &X 295594 |[FEH FHiE 301802 |fEA& Fsh  30.30.89
=L YKK 8- B KNS =L YKK RS RINT S =1L YKK =L YKK 8- B)IH AL =L YKK
110mH 5/10 (1.2 [E)Il #&F 1436 #A K[ 1462 Bk KH 1484 A+E K 1522 ;I %17 15.70 ¥ 1EFD 15.97 =5 %K 1806
(1.067m) 38 $BTIE LYIARC B -FETRREAM R EREARRTE 2 AZESH ma-EREEH B EAZHE R EIL-ZEILXZF(0P)
400mH 5/11 il EEX 5349 INK B 54.67 #AK K#h 5577 NI ZEH 56.31 fE<”K & 5800
(0.914m) A T BH-1T99 HE)-BEERE 8= NI 8- st R Ek
3000mSC [5/10 kHF B 9.02.06 A E 9.12.44 RER {2KER 9.51.66 WE #hEt 100990 [JIIPE #3E 10.1898 [=K @& 104387 |FEE KX 11.11.76
(914mm) EEEIJ.I YKK - EINMAKRIE EL-ELLKE(OP) 2Ll -E L XE(0P) E - FLXE(0P) it~ R EBASR EIL-E L KXE(P)
5000mW |5/11 F &K 212572 | K#FHF f@— 235540 [k #8 25.32.79
A)I-VLCHERIR BI-HR)DTHE = LU= An#sEEn 2
g3 [4XT00mR 5/10 = ILXZ(0P) 40.76 asoxmmmazmen 45 30 PACES 46.77 =52 (0P) 46.89
MA A Ak B i {EREL nr BE
faF BERE B+t th INEE BA HEE B:
M EE Al R =@+ FH R E
BiR X =8 5hF #M_EEdh el K]
4 x400mR [5/11 ZILKZE(OP) 3.17.71 LEE A 402.97
mE Al =@ FHK
BR £x Bit 1%
M Bk KHE EE
far BERE quT: BE
£ =Bk 5/10 FH EBE 1m9S ¥ =R 1m90
B HREE—PHK iR -FiRtEE
BBk 5/10 B STFURGA 5mal
BRI LRRe. R F
TE S Bk 5/11 oA S Tm37/+2.1 €0 &HB 6m68/+2.3 | KE MiE 6m35/+1.1 |5 &7 5m47/+0.1 [{RE K— 5m02/+0.8
8- FHETIELYIRRC BB B PR A SR SR ARFH Al &RTEER B FRTAEHS
=Bk 5/10 FEiE K— 15m08/+12|BE KIE  14m25/+03|ihim =B 14mi17/+08|IUA HE  14m09/+1.6 [ ILIE EE  13md40/+06|{ERAK A 12m63/+0.1|{EfE 5 12m21/0.0
B HETRERS HiH 797 WAK ALy (OP) EH-EHTEME 8- JREAAFBX B BRI R iR Finh RER 8- B LK -Y957
fah i 5/11 IR BB 14m62 HK BN 13m97 WA #ifFg  12m18 HwHA A 12m03 kB =&  10m57 {fE<2K ;& 10m16
(7.260kg) B %ﬂ%mtw)mc e -ERAFEH =1L YKK 8 5RETR IS e AEER 8- FRh Rk
A% 5/10 INFR FEER 51m31 AN KB 41m76 HAK BEN  40mi7 WA & 34mi17 £42K &  30m59
(2.000kg) BB w;mc B HHEE 5 ERATEH = L - YKK 535 5B D R
N 5/10 = Fh 62m52 J\$# Bz  56m90 WH BX  52m4d2 Byl {5 45m09 £ F08A 40m82 1D BB 26m71
(7.260kg) B-tREEES KEH  |meemormm bR BASE S iE-JbEA R BB BEF 1B - RER/NK
PYUE 5/11 BF ET]  68m4l KR &%= 63m94 K3 EEth  61m43 HA EAB  60m52 AR #E 59m95 Bma = 57m86 ANl B 54m24 WA #iE 53m38
(0.800kg) BH - XHEEH B HEESHHES ia-BERHE Al KEFEHK BT Ly - HEBS% =1L YKK =1L YKK
mz [1500m 5/10 INKA BT 41746
Sy 8- 5 B A
+-5, [5000m 5/11 MK B 15.49.51
B8 - 5 E B Ak




M@kﬁ%%l%i REOEFIERS

R 5

F62[ e HAEEM*bELE ELiﬁxA%Lz

O—FK:14504200

BifER : 2014E5JEJ1OE|(:I:)~11E|(E|) SR EILEREMMKILEB AREEELFREE  3—F:172030 rSyoEBHE BE 1T
24— ILREHE Al EE
#a | mE | Af|RE _ I 2L _ 3f i S o I o
K&/ FilE S0k K& FilE FOE% K% FilE s08% K& FilE SOER K&/ FilE 8% EE%/FEE E08% K4/ FiE 508% K£% /FE Soi%
100m 5/10 [-1.3 (B8 ®BF 1221 FHE FKE 12.54 B EM 1283 W #F 1307 BAR ERE 1318 T2 E 13.25 MmHE EX& 1342 L% HBEF 1361
JtimE - P & EL-EILXF(0P) #8797 WA —7hL75 (OP) | -fFh# =11 E 1k (OP) R UANVFERIES Bl KA IR T4
200m 5/11 [-1.1 [de#F FE 2570 BXR ERE 2684 L% HBEF 2798
iR FURTIELYIARC IR N (o)) IR T
400m 5/10 & FE  56.59 ANEH MEE 1.07.16
B HIBTMLYIARC 38+ Py WAK —YhlyY (OP)
800m 5/11 AR #3F 22784
B -LERITFETRIE
1500m 5/10 TR S 44412 £k B 45051 A WDIF 45240 EiE EE 45342
B HBTIELYIARC i #iRTIE LYIARC B ERITFET X E g FRTIELYIARC
5000m 5/11 S EEM 173475 [EEF #£E 180450 [(EE =@ 18.09.48
B FBTIELYIARC B FRTIELYIARC iR -FRTIELYIARC
100mH 5/10 [+1.2 [RE&®¥ sF 13.70 =t FE 1397 s = 1483 e £ 15.86
(0.840m) A8 - HABE P K $78-FHBRTIE LYIARC 8. EEE S BT I—ALT YNy
400mH 5/11 J\B BAZE 1.0742 AR = 1.11.53
#F (0.762m) Z - EILAZ(0P) E - EILAZ(OP)
5000mW [5/11 = E4 254035
A-IVF EENE
E= bk 5/10 tTH #F 1m60
BH - BERLEEH
BBk 5/10 FB #F 4m00
R BT LR K F
FEE Bk 5/11 B2 ZEFE  5m64/+1.6
B HIBT M LYIARC
= ER Bk 5/10 B2 E{E 11m90/+05|EAR FFIRF 11m64/+05(FAK EUVA 10m93/00[ithEH EZ&H  10m59/+1.9
R BT LR K ET BB REEOUP ) R FRERBLAZOP) S KA/
A 5/10 BiE XFITE 42m80
(1.000kg) Z-EEHEL
NoI—#% [5/10 I # EE/L 46m?26 £F FF 3Im78
(4.000kg) 18- SBERIBILKAEOP) Sl EtHE
PYE 5/11 KB FBH 42m42
(O.ﬁOOkg) B AN —Y977 WA VAR
4x100mR [5/10 .—,.L\Erth(op) 53.90
BlA AR
Fas R 2R
=% BA
B8N BE
ZF [3000m 5/11 % B 101090 [AR XkFE 102392 |[EfE XKW 10.36.17
’/“1:7 iR FRTIELYIARC R - HIRTIELYIARC iR ¥ﬁn‘%7ll«t w’;ch
100m 5/10 Feln KA 11.22/-03[|k&AK = 12.66/-0.3 |84 5 12.73/+16 (F8)I] EE 12.76/+1.6 [gEZE LE 1281/-03([)IIF #MAKX 13.13/-03|(KE Eth 1405/+06 [F#E K— 14.41/-03
ot S dan [t S daa ,—,..,\EyEP B SEHG B B B
B¥ [1500m 5/10 B L= 4.2251 By BEARER 4.27.27 €M FEl 42995 AR £E 44202 Kk KA 45235 dt 5-A%1M{Y 45419 hi B 4.55.66 bt 8BA 459.84
hZ HEpgp BHEg e adan HEpg BE2d HERch RHFH =2EEHT
FE 2 Bk 5/10 ER = 5m25/-0.2 |7G)I] FZ®E 5mi1/+0.1[F L JWE 3m70/+1.8
ot den RS ibtu.lﬂh
100m 5/10 B8 BF 1357/00 |[{EE %A 13.67/+20 |#AK 13.87/00 (LA ¥ 1466/+2.0 (25 B 1467/00 [FHE BIEHE 1517/+20 |FE FRE 17.14/+20
I_JIL:\ETEF WIL\EPEP iﬁ[‘q: i%ﬂq: I_JIL:\E]'EF I_IIL:\ETEP i%ﬁqﬂ
ZF [800m 5/10 EED 2.34.21 It =@ 2.35.49 g #FE 23582 =H# FIF=x 2.36.25 it B 2.36.49 H{k BFZE 23878 BAX FH  2.39.38 tRE ¥R 2.50.38
hZ HEpgp AR AR HEpg BEpg AEH [richsiidan =2EEHT
FE 2 Bk 5/10 ETFT &4 4m51/+06[IUE ##E 4m23/-0.8
B RS
e 100m 5/11 AR HBER 1599/-12(FH #HK 16.09/-1.2[/M#k B/ 17.11/-12 (L FE 17.12/-12|2& #) 1717/-12|8Nl BE 1721/-14(KK L8 1748/-14/ {0 E£EZE  1749/-14
/ \% REHOELKE LK -VDER BHHOEOREEAR-VDER REHOEOTE AN -VDER REBHOELKE LK -VDER REHOELKE LK -VDER BHHLEORE AR -VDER REHOEOLE AN -VDER REHOELKE LK -VDER
B (EIEE 5/11 Bl BE  4mdd/H2 K EE 3m30/+0.9 [RiAA ERAL 3mi19/+1.4(EiEF 2m93/+0.7 [ KA & 2m88/+0.3[EH AR 2mb8/+1.0

HEE

BHHOFEDORE LN YD ER

REHOEOLRE LR -YDER

REHDELLRE LR -YDER

REHOELLREEAF-YDER

BHHOFEOREEAE YD ER




